12/10 () RIZID2EK AT Z1Z7FrL oSy F MR/ IBERI2ARE

(2016.12.2F F>4+>%5Em)

AT 2 I 2 = I )
18 |HE 12 J7—A—ZNITA | B 8 4-0 4-1 2-0 141
2 559 KEY BMh g0 0-4 4 -3 1-1 21
CIEE = ST ESSC B9 1-4 3-4 0-2 3fu
4

BJ0 S N 1w g
174 |IUF X BAEEF=2I57 | B 8 1-4 1-4 0-2 3z
227 BE B BEBBO->T=2F-L B 8| 4 -1 4-1 2-0| 1M
3 oo B[] AR JITC gl 9 4-1 1-4 1-1 211
4

] M = = £l

1|17 KHE #E WERF=ZNLYS | B 7 4-3 3-4 1-1] 3
2 [IUE BLEB oo s B 7| 3 -4 0-4 0-2 4y
3|6 A BT -sesssansmaonee | B 10| 4 - 3 3-4 1-1] 241
4163 [NFE Kl JITC B 7 4-0 4-3 2-0 141
UL=IL-FEFIA] (GIZ 27 N va)
B D18 NERIBI b —F X MATRVES s 1,26 —F 4D 3,46 h—F %> b Eh 23
-CIOvIstEEL. 1vs2-3vs4/1vs3-2vsd/ D2 EZITVET . HEERE 16

NRACRETS AR OBSE QEETR OB KRE @30+ T DIEETRELFY.

‘T 40— LT RIS T-SHROFE
-A¥ 65— LA -T RIS T-SHAOFE

NI 8
NARN8 3
3,428 2

6

ABRA B (HEOSMATEEHD)



12/10 (L) RIRDD2FAIYT S1Z7FvL oSy F @R IBEZI2BAAS

& 12
T7=A—=ZANIrTA

bye
fBC B4R
JITC

BA WC

K=bAYH=F23FNTZATHTI~

AN
JITC

A& Bih

bye

s ——
BB B
HEHEO—>FT—AF— 1

10 AT 1, 2 b= X b

63
%
64
9
%0 Qaiaikmj 4
N ]
62
BE A
65

HiZ 12

63

10/ AT 3,44 b= X2 b

AT AiE
ESSC

IMmp=s5:

FE- X- NI -FUR

KEE 1#
HEATZAALYS

LI R

ERERT=29357

AT At

60

/

” - _— nior
'] J_ 7 Challenge

ABE 1

FrLISivys

ABE 1
62

W.O.



12/10 () RIZID2EK AT Z1Z7FrL oSy F MR/ IBERI2ARE

)
220518€4, :pw.;;u.v
[2016.12.24F S>F>4EA]

A [] = 9 s = 1 \J
1,5 {52 [EE JTUVIAYRPT=2957 | Btk | 9 3-4 4-1 1-1 111
2 3705l S Jp—A—-ZNrTA & 10 4 -3 1-4 1-1| 3z
30 PUIEp pOss 11 1-4 4 -1 1-1 24
4

B0 = 5 = 2
147/ 22t BEYLSAZT-AA0-L | B 12 4-0 4-2 2-0 111
2 315 $4K NBEK HEHBO-—>7-2F-L | BE 7| 0-4 0-4 0-2| 3z
3|2 7)1 BRI BiE11 2-4 4-0 1-1| 22
4

. um = = == BA

189/ HR|1| fifERE BraET-2H-7> B 9 4 -2 4 -3 2-0 2Mi
2 B FITS 10 2-4 2-4 0-2 41
3|20 F3) || 2K Bi11 3-4 2-4 0-2 3
4 146 FAAR JEKER S 12 4 -2 4 -2 2-0 1fI
UL—)L - EE5EIH] (S>>0 HR1> NiESY)
<FiBY—J1%. NEALRI h—F A MeiTRWET . 1,26 M—FADh 3,40 h—F XD~ B 38
-CIOvIstEEL. 1vs2-3vs4/1vs3-2vsd/ D2 EZITVET . HEERE 26
JEAGREEG. OB QEIETR @BKkmE @730 DIEETRELEY, AV e 13
FiE 45 - LB TR T-SAROFE AVEN:] 5
KE 65— LB -7 R T HAXDOFE 3,401k 3

ABRAIVN 6 (UEOSIMAZKTZEEGD)



12/10 (L) RIRDD2FAIYT S1Z7FvL oSy F @R IBEZI2BAAS

i B
JIVIAYRPF=RI5T
bye

i)l BEX

ORI R

BrET-AH-T>

AR FEXRER

IEEIIES

bye

= Bt

BFYYSIAAFTZARI-

12 AT 1, 2 =X b

E [
63
dayl] ffERE
62
7 E BT
Lok nvs)
AR JEARER
65
AR JEARER
W.O.

127% AR 3,4 b= X2 b

B &

J7—4—=ANrTA

AR F1T5

M)l 8xX

At NEE:
i NNELS
BEHEO—>7=2F s

B HHE
61
: B HHE
/EIJ"_('?M 61
FrLliivys
)l X
60




12/10 (X) RIRID2BFAHYD S1ZFFrLoIXvF ARIIBERLI2AXS

220 AT h 1 ,@ AEHEH e
KIOFTELX'F(DEB] ‘ [12iR L T DER)
: gEa ";_ /\/IV |'m_$ .

— N e
- ;\g— Jiw 3 4|
=
| W | T

H il
SR ) 4

AEH
(1085 F O#p)

<>/ '
4
‘ ) — (((
Zi5 : H:Z 18 #F (&)

#E8Bh : BBE B EF(RH)
[12m% LT DEB)
B4 . #E JBE HF(K)
#EBR : 18K JEXEP EF(R)

/| Q ABEBDHTES! | O —




